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d
The integrating factor for the first order linear di f ferential equation : d_y +ycotx = sin’ris — ——
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If the non - exact differential equation M(x,y)dx + N(x,y)dy = 0, is of the form
yi(xy)dx + xg(xy)dy = 0, then the integrating factor is - - - -
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Separable form f(y)dy = g(z)dz, of the differential equation:y — I% =a (y'E + d—y) is——.
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ydx - y(sinx)dy = 0, is an example of - - - differential equation.
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If the differential equation: M(x,y)dx + N(x,y)dy = 0 is not exact, then after
- - - an appropriate function u(x,y) , we can from it to be exact.
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The integrating factor for the first order linear di f ferential equation : d_y +ytanz = cos T is — ——
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The dif ferential equation (sin 2z — tan y)dz — Isfeczydy = (is exact because — — — — — — — — .
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The dif ferential equation du + —x = 2siny is first order linear in unknown — ——
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Separable form of the differential equation: $\frac{dyHdx}=y-1% 15 — cwhere Sv=y-1.3
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] P 1 .5 .
If.'rzy‘:dx + I‘:yzdy = 0 has the equivalent form as d (E x‘:y‘:) = 0, then its solutionis — ——.
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: : , e d* d"
Which of the following function would satisfy: d—: = dzf == dj’?
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Which of the following is first order linear equation in unknown variable x7
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O dy SINT)T = COSY
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Separable form f(y)dy + g(z)dz = 0, of the differential equation: z sin ydz + {1‘9 + 1) cos ydy = 0is—.
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tanydy + —dz =0
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cot ydy + ——dz =0
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tanydy + 7—dz =10
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cotydy + 7—dz =10

21

XX LRXDAERRXLXLXDAERYRADRDRLLELAEALRLYADALALALRYRRXRLXYAXARXARXRLDILALALLAYLRLYLYALALRYLADILALALALYLALRYRLLYLALLRYALLXILADARYRDIXDALLLIALXAXTLXXIXEIXXXXISRNR

TRV R VR VIR VIV TR VIV IR VIV TR VIOV T VIS VI IO TRV IOV I IV TR VI I VIV I VI VI VI VIV I VI VI TV TV IV TI T VI ¥ IR VIV TV TV T VT VI VI ¥ I VTV TV T ¥ TV T VIV TV Y T VY T VY T VY T VUV T VY R VY R VY e YOy




PEAXRX XX AERXRA AR AR AR ALY ALY
VTV TV eV VeV e Y VeV Ve Ve VeV Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Y VeV Ve Y VeV Ve Y Ve Ve Ve Ve Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Ve Ve Vo Ve Vo Ve Vo Vs Ve Ve Vo Vo Ve Ve Vo

MTH401:Quiz NO.01 Quiz Start Time: 05:39 PM. 16 May

Question # 3 of 10 { Start time: 05:40:17 PM. 16 May 2021 ) Total Ma

. o |
If;rzy‘td:r: + I‘ty}‘dy = 0 has the equivalent form as d (E z‘ty‘t) = 0, then its solutionis — ——.
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d:ly
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2= 1 y2 =0isa-—- differential equation of degree—-.
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If the non — exact dif ferential equation M(z, y)dz + N(z, y)dy = Ois homogeneous and z M (z,y) + yN(
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d
The integrating factor for the first order linear dif ferential equation : d_y +ytanz = cos T is —
T
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For the nonezxact dif ferential equation {Igy — 2.’1‘3;2} dx — (.T:: — 32° y) dy=0,ifzM(z,y) + yN(z,y) = =y
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For the non - exact differential equation

BN  aM
—(y—3z —Ndy=0,if——2 —
ydr — (y — 3z — 3)dy=0,if ;i
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Question # 9 of 10 ( Start time: 05:41:38 PM. 16 May 2021 )

d zt+tyt+1
Which of the following substitution will trans form the dif ferential equation : d_y = ﬁ , in to sepai
I Yy

Select the correct option
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